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CZ—106—2019
FACULTY OF COMMERCE

B.Com. (First Year) (First Semester) EXAMINATION

MARCH/APRIL, 2019

FUNDAMENTALS OF STATISTICS AND MATHS—I

(Tuesday, 26-3-2019)

(MCQ & Theory)
Time : 10.00 a.m. to 12.00 noon

Time—2 Hours

Maximum Marks—40

N.B. .— (i) Solve Question No. 1 on OMR sheet during the first half an hour.
(i1) All questions carry equal marks.
(@ii) Use of simple calculator is allowed.
() WY HA 1 T OMR ¥ie o9 HieaEamEl . el dfea 79 a™
ECARIE
(ii) W UTAET §AE IO ST
(iii) ~ W18 ORI ARTAH T ST
MCQ
1. Multiple Choice Questions : 10
E@Q’ﬂféﬁ R
(2) The formula of quartile deviation is ..........cc.c..cccee. .
@ Q3 ; Q ®) Qy ; Q
(c) Q3 — Q d Qg - Q
a@% W @ ................................... 3:|-|%-
@ Q3 ; Q ®) Qy ; Q
© Q3-Q d) Q- Q
P.T.O.
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(@)

(iv)

( 2) CZ—106—2019

Co-efficient of correlation cannot be ..........coeviiienni... .

(@) More than 1 b) Less than 1
() More than 0.5 d) None of these
Hﬁ{‘ic’iq '\LU|°|')|'C{’\| rch’Hq ................................. 31& W :"?a-.
(@) THYST ST (b) ~ THUST HHI
(¢) 0.5 T&m S (d) IRt AR
Which one of the following is true ?
2 Sfdx .
(@) a=x+2fdx X I ®) a=x+ fxxz
n n
>fdx . 4 n .
(C) a=x+ il X1 (d) a—x+zfdx2><t
TEddeh! e B0 ?
2
>fd.
(@) a:x+zfdx X1 b) a=x+ﬂx
n n
Xfdx . _ n :
(c) a=x+ > X I ) a—x+zfdx2><z

‘The science of measurement of the social organism regarded as a whole

in all its manifestations’, this definition is given by ..........ccc........... .
(@)  Karl Pearson (b)  Seligman
(e) Boddington (d) Dr. Bowley

‘Tifegent ® gare fSemre fafay 7= Sfaa e Aol #om s o1R,
B A=A RO ?

(@) e T9erEd b) I
(c)  wfEfeq (d) eI dfaa
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(v) byx is called regression co-efficient of :
(@ xony b) yonx
(c) Both (a) and (b) (d)  None of these
by, AT HEUTRA TRURTE
(@) x on y b) yonx
(© TR (@) W (b) (d) AT THE R
(i) Calculate range from the following data :
x
120
200
250
110
090
(@ 120 ) 170
(c) 160 (d) 150

el Hifgdren e fodr el

120
200
250
110

090

(@ 120 ®) 170
() 160 (d) 150
P.T.O.
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(vit)

(viii)

(ix)

()

(4)
Mode is denoted by :

(@ =z ®)
(c) m d)

CZ—106—2019

e qEcisn! v faem sieead

(@ =z b)
(c) m (d)

a

)

In case of the ages of husbands and wives, the correlation is :

(@)  Negative b)
(c) Zero (d)

tﬁﬁ' g l‘|("'|'\| qivm °|q|\'|ﬁ|('| .............................

(@) hNIHS b)
) YA (d)

Positive

Multiple
TEHEY 3TE.

Heh{[Heh

gl

What is the median of the following set of scores ?

18, 6, 12, 10, 14
(@) 12 b)
(c) 14 (d)

18, 6, 12, 10, 14 = TATEl AR HIv

(@) 12 b)
(¢) 14 (d)

Co-efficient of standard deviation is :

(@  S.D. + Mode b)
(c) S.D. + Mean (d)

g9 fo=eE = e e 3Te

(@ 999 foeerd + yfasss ®)
() wHma foeer + weg (d)

18
10

18
10

S.D. + Median
None of these

T fouem + gemen
AR The! TTRI
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( 5)
Theory
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Calculate Mean and Median from the following data : 10
Wages No. of Workers
(in Rs.)

More than 0 80
More than 10 78
More than 20 73
More than 30 66
More than 40 56
More than 50 36
More than 60 21
More than 70 12
More than 80 06
More than 90 02

@il Afgdiae Hied o Heghl Fiel

LEal A HE
SRR

0 T SIT&d 80

10 Hem S 78

20 T& S 73

30 T&m S 66

40 e T 56

50 T&T S 36

60 T&m S 21

70 UeT S 12

80 T&f S 06

90 TN W 02

P.T.O.
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Or
(fenam)

Calculate Quartile Deviation and its co-efficient from the following data :
Class Frequency
0—5 04
5—10 05
10—15 06
15—20 10
20—25 11
25—30 09
30—35 04
35—40 01

TIeliel Alfgdl=a1 STER =qde fa=em ofr &= o & .

il AR ETRAT
0—5 04
5—10 05
10—15 06
15—20 10
20—25 11
25—30 09
30—35 04
35—40 01

Calculate t
data :

he standard deviation

and its co-efficient from

Class Frequency
60—61 04
61—62 16
62—63 08
63—64 24
64—65 35
65—66 18
66—67 19
67—68 16
68—69 10
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Teita Aifgdi=ar STER g9 foged onfor &= o w@l
Eul qrRarar

60—61 04

61—62 16

62—63 08

63—64 24

64—65 35

65—66 18

66—67 19

67—68 16

68—69 10

Or
(feram)
The data related with sales and advertisement expenses of a firm is given
below :
Advertisement Sales
Expenses (in crore)
(in crore)

Mean 10 90
Standard Deviation 03 12

Co-efficient of correlation (r) = 0.8.

Find the regression equation y on x and estimates the value of y when x is

15 crore.

el groita fastl 9 Sifeta @< sar= Afedl oot R

e @< ferent

(FE TeEA) (HIET 7))
e 10 90
9 fo=re™ 03 12

HeHay U (r) = 0.8.

AT FHIHT y on x TIR HEA y o oA *l@l, x 9 oI 15 &l & <l 3R,

P.T.O.
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Calculate the Karl Pearson’s coefficient of correlation from the following

data : 10
X Y
14 18
18 20
20 35
22 24
25 28
30 10
35 21
40 50
45 60

Use 25’ and ‘28 as assumed mean of X’ and ‘Y’ series respectively.

Tt Hifediaed e fYeRE Jm=1 9g9dY [0 &el

X Y
14 18
18 20
20 35
22 24
25 28
30 10
35 21
40 50
45 60

‘o’ Smfor ‘A’ ATCRTEIS STIsRH ‘257 ST ‘28’ TEId WiLH STl
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Or
(fenam)
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Calculate mode from the following data (using grouping table) :

IR & ¢

Marks No. of Students
More than 0 100
More than 10 85
More than 20 73
More than 30 53
More than 40 37
More than 50 23
More than 60 10

TTeid Alfed=a STER Yfsss @@l e G (grouping table)

T faemeaift den
0 e wd 100
10 T&m W 85
20 T&N S 73
30 T W 53
40 Tam S 37
50 Term & 23
60 T W 10
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